Year 6 — Reasoning practice

Here is a shaded shape on a square grid.

Reflect the shape in the mirror line.

Use a ruler.

mirror line

Write the missing number to make this division correct.

0.3 = ‘ ‘ ~ 0.03




In this sequence, the rule to get the next number is

Multiply by 2, and then add 3

Write the missing numbers.

25 53

A theme park sells tickets online.
Each ticket costs £24

There is a £3 charge for buying tickets.

Which of these shows how to calculate the total cost, in pounds?

Tick one.

number of tickets x 3 + 24

number of tickets x 24 + 3

number of tickets + 3 x 24

number of tickets + 24 x 3




Here is a sketch of a triangle.

It is not drawn to scale.
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Draw the full-size triangle accurately below.

Use an angle measurer (protractor) and a ruler.

One line has been drawn for you.



Amina asked 60 children to choose their favourite flavour of jelly.

These were her results.

Flavour N:I:'i}gfernc’f
Raspberry 12
Lemon 8
Orange 15
Blackcurrant 25
Total 60

What percentage of the 60 children chose orange?

A machine pours 250 millilitres of juice every 4 seconds.

%

How many litres of juice does the machine pour every minute?

litres




